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Registration
No.

Name

Test Venue

Test Time 10:00 AM - 12:00 PM
Test Date 23/09/2019
Subject Junior Engineer 2018 Civil

Section : General Intelligence and Reasoning

Q.1 <hIfA-T 31 oR & &faior &t 31k 30 m Tl §1 fihe ag 91d gt & 9k 40 m Tt g1 ag gA: ag
St & 3R 60 m =TT Qeh fohaTer i geh ek ugad 81 SHeh wR 3R fhara i g & =
& e g 79 ffSg)

Ans "1 60 m
X 2.40m
/5 3.80m
o 450m

Question ID : 2390877671
Status : Answered
Chosen Option : 4

Q.2 fA=fAfEd reel &) 39 YR @ shidag &, 14 3 S0l Aezahler # shdag Udid aid &l

1. Casual
2. Causal
3. Case
4. Casting
5. Castle

Ans  off 1.3,4,51,2
/X 2.3,54,1,2
X 3.4,31,25
75 4.3,4,52,1

Question ID : 2390877654
Status : Answered
Chosen Option: 1

Q.3 A+Bawr3fg'A, BHTUEE
A-Ba&rafg A BR A&
AxBHT IS g'A BHragag
A+Ba@Tfg'A BRIAIE

FREX+Y*xZxV-Ug aly, Ud »a deufda g2
Ans 1 3d
X 2587
X 3.4
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Question ID : 2390877674
Status : Answered
Chosen Option: 1

Ans

YNBGS

<redVIA
SN Y
e DANY
viedWMY

Q4 Ru v meR-wew @y Had odu 9RflT & gaq =, 5@ odo # s8F af 3T @ T

Question ID : 2390877693
Status : Answered
Chosen Option : 4

Ans

Q.5 I 3IHER I TG &, Wil FAFfAfRe siaen d usraras Rig (?) & TUH ) o Gahar gl

LGKR, 0COO, RYSL, ?

o 1.uuwi
5 2. VWK
5 3.uvwi
X 4. TUWY

Question ID : 2390877651
Status : Answered
Chosen Option: 1

Ans

68D189A9B4C88="

/X 1.54
75 2.49
/X 3.68
of 464

Q.6 Tl 'A o1 3ref ‘W' @, B a1 312f 'TonT’ &, C 1 31 'gerHr & 3R D @ orf 'SiteAr g, &t Amfafaa
TR T 719 TG hifSg?

Question ID : 2390877685
Status : Answered
Chosen Option : 4

21
Ans

Q.7 Ry g wfiawur w d@gfer a9 & g w9 & &) Rl &t ok &) st o wRER gea
=feg?

-14%x5+27+3=90
75 1,335, + R x
X 2.213R 14, + R +



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaiy7 Eooale Play

7< 314 3R 5, + ok x
o 421327, + R -

Question ID : 2390877686

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q8 3§ Rmwew =1 9w B, S & 7§ WG A sahiRa § (@IdA @evw) A FERE @ Y

Ans

mﬁ
R

Question ID : 2390877692
Status : Answered
Chosen Option: 1

Q.9 39 feeu o1 au &R, SiTenT qefta T & ary ag ey 8, it fgda e @ vuw gen a gl

5:130::8:?
Ans X" 1 240

X 2.120
/X 3.410
o 4.520

Question ID : 2390877681
Status : Answered
Chosen Option : 4

Q.10 Ues Aty gpevrar &, MARKER @t 1311811518 forar Sirar &1 3¢t ghewmat & DOCILE it &t
foraT srem?

Ans X" 121639115
/X 2.41638125
of 341539125
/X 4.21539115
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Question ID : 2390877667
Status : Answered
Chosen Option: 3

Q.11 fAAfaf@d A<E] ot 39 UFR A g 3, S d S AUl & shrag udid g1 &1

1. Scolding
2. Scenery
3. School

4. Scheme
5. Science

Ans X" 1.2,4,3,1,5

/X 3.2,3,4,51
/X 4.3,2,54,1

Question ID : 2390877655
Status : Answered
Chosen Option : 2

Q.12 I -G T TG 3, Forad e g g 2reel & fiwr adh e &, it Ry o 2reg-gmm & g
oreEt & A gl

FOT : ST’
Ans X 1. e GHR
o 2 e us
75 3.g9m : Rt
X 4. ol g

Question ID : 2390877661
Status : Answered
Chosen Option : 2

Q.13 3B &P Q,R, S, T, U, V 3R W, AT H # Qeh JuITehR AW o IR1 31K Teh g § F0F
R grTrad fan A 9% §1 afk Q SwR-yd fRRan & de1 &, At V Ry RRan A de1 82

Ans X" 1 zferorgd
75 2. efEorafm
o 3.zfm
X 43R

Question ID : 2390877675

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.14 I THET-giH 1 T9 &, FAa & 7€ i1 Tt & i ad dsiv g, sit Ry 1g den-gm Hir
2 demratt & f=r @1

16:128
Ans o 1.20:200

X 2.12:112

/X 3.22:232

75 4.28:390
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Question ID : 2390877680
Status : Answered
Chosen Option : 1

Q15 A Ry 7w & @ A, qe, RS B el w ¥ B qee # feRe wo bk
T, ‘FamRl # AT Far §1 ImE # § 75 5egd 39 R Soft F ot fr d=m F g
¥

as o116

Question ID : 2390877696
Status : Answered
Chosen Option: 1

Q.16 ¥2,40,000 i et AFA i} Fofid, fAerrT iR sreget & ofia 59 uwR faafa frar s & fk wfa
&l fAe ) arelt af, e &) e areft wfy @ &= 7 g srsge =) Sfia @ 240,000 0 e
&1 375 ol fhasit wify et &2

Ans X" 1,340,000
/5 2.%1,00,000
o 3.280,000

/X 4.360,000

Question ID : 2390877687

Not Attempted and
Marked For Review

Chosen Option : --

Status :

¥V 57 e & 9aa &Y, O & & 7F amefy X safaRe &
(T (o) Fr Al A8 Y)

1|
™

Figure X

Ans
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Question ID : 2390877690
Status : Answered
Chosen Option : 2

Q.18 I AsE-GIH I TG ohe, TR R 7q a1 2real o offa agh deiw g, St i}y 71Q ereg-gmw & a1
ereel dh f gl

e gar : ffaa
Ans X 1. gl et (HHTER)

Question ID : 2390877659
Status : Answered
Chosen Option : 2

Q19 37 & @ F A W, ST U 7w 79 & Ve v w9yg § 9w F w6aui 7 w@fown w7 ¥ bl
FaT gl

Ans

v

X2
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Q.20 56 STl Fi Felm #, 18 BT FIF +t @t T8 Werat &, 27 gicht Derd & 9k 29 Afefiaia Derd &1

Question ID : 2390877695
Status : Answered
Chosen Option : 2

foret BT gieht ok afelialter a1 @erat &2
Ans X" 1171
X 2.9
W 318
< 419

Question ID : 2390877688

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.21 sgfa= A, B, C, D, E 3R F Swil-q@ Yo Hifl rar A S g afFa s adi fr s s A i1 C, B
FAE AR A AISTZID, AMRCFHFFadeTgIFBIREGFHudgisFmddwm At aas
R R as §?

Ans X' 1 BSRE
o 2. ARE
/X 3. ARF
/X 4.CRE

Question ID : 2390877676
Status : Answered
Chosen Option : 2

Q.22 3 7g fAereal # @ Tl fAerea o1 oa= o, st Fefaf@a vifaes fRafaal & adsa sir srefgof
=¥ ol g2rfaT 81

1. g
2.7

3. agdie
4. fSrem
5. 321

Ans X" 1.2,3,1,54
/X 2.3,2,4,1,5
323415
/X 4.3,2,51,4

Question ID : 2390877653
Status : Answered
Chosen Option: 3

Q.23 f=faf@d sjaen 7 @ sigRa sier-Tgg &1 waq &l

PZN, SCQ, VFT, YIW, BLA
Ans
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25 1.P2N
< 2 VFT
< 3. viw
W 2.BLA
Question ID : 2390877649

Status : Answered
Chosen Option : 4

¥ 7 e &1 9ga =, OE & & 7F amfy X AR &
(e (o) B At AE )

Figure X
Ans
1
v
r 3
1\
o[
I
~ 4

Question ID : 2390877691
Status : Answered
Chosen Option : 1

Q.25 Qe fAfgye fewmar &, CANADA @t DZOZEZ forat strar g1 3+t greyrsm # EUROPE @t 4 foran
SITQm?



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eooale Play

Ans o 1. DTSNQD

/< 2.DTTNQD
75 3.CTSMaF
/X 4.CTSMoP

Question ID : 2390877665

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.26 IH HEAT &1 9T &N, St FAfaf@d sjiaen | usarae Rig (?) & T U o1 Fohdl gl
37,39, 42, 47, 54, 65,7
Ans X 177
X 2.76
378
X 4.79

Question ID : 2390877678
Status : Answered
Chosen Option : 3

Q.27 Qe fAfa fewmr &, MAGIC &l OCIKE ferar sirar 81 I+t ghewor & SPOON @t 4 foran
SITQTm?

Ans  of 1 URQQP
75 2. VRNNP
/< 3.UsQQP
#< 4.VSRRO

Question ID : 2390877666
Status : Answered
Chosen Option: 1

Q.28 39 faehed o1 9g+1 o, et g s1eR-ag & |1y agl 99y g, it fEdia siar-ayg o1 uum
eR-TYE A &1

UKHA : SMFC : : TURO : ?
Ans  of 1 RLPQ
/X 2.RLTQ
75 3.sLmQ
/5 4. WLTR

Question ID : 2390877663
Status : Answered
Chosen Option : 1

Q.29 39 31ER & T &N, St F=faf@a sjen # usamas g (?) & TU U o Haher 81

PU,ZE?

Ans J-LJ
Ko2L
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53K
K4

Question ID : 2390877647
Status : Answered
Chosen Option: 1

Q.30 I 3HeR & T9 &N, Sit F=faf@a sjaen & usaras Rig (?) & TU= R o Hehar 81

PRJ,?2,AXV

Ans  of 1 E
X 2.6
75 3.H
X 4F

Question ID : 2390877648
Status : Answered
Chosen Option : 1

Q.31 39 HER-TYE &1 I &N, St F=faf@a sjen # usamas &g (?) & TU uR o1 9ahar 81

DXTU, HXXU, LXBU, ?
Ans X 1 PBFY

75 2.PYFU
o 3.PxFU
#< 4. OXFU

Question ID : 2390877650
Status : Answered
Chosen Option : 3

Q.32 farshid grot o1 deT &1 G- T Y 9 &1 Fev fashia o der 81 iemad & et 9 i andt
T @ €| TR GA I HTE §1 ot SR SHerat o1 o e 82

Ans quﬁ
X 2.3a
X 3.

75 4. =ran/mmE

Question ID : 2390877673
Status : Answered
Chosen Option: 1

Q.33 39 fAeheq &1 Ta= o, fAHeT gty T & a1y ag) dey g, st e T o v ser @ gl

7:147::9:?

Ans X" 1 242
o 2243

75 3.241

X 4.240

[ Question ID : 2390877682 ]
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Chosen Option : --

GET IT ON
Google Play

Status : Not Attempted and
Marked For Review

Q.34 gty fed mq & fSirent argaun |, 11 & 11l wifera = frsed @vedt 1 g wet g 6 Rg g
FUE1 A & TS TN I §; v« & g8 I=d: 1 dwt @ = udia gt @, ag Rofa | e
3R FaT¢ foh it T1/@ e, U= a1 ATfches &9 § SIERUT hedl/a 8/81

HY:
1. gft wret () rferat &1
2. @ WIS () T &l

fAreen:
I. o urfeat o= €1
Il. & uferai @t () &1
1. g+t anferat == &1
Ans X" 1. goft foreny ergeRol aRa €
25 2. Fremd | 3R 111 2T & srgeror aa €1
25 3. e 11 3R 111 &+ €Y argeror ahedl &1

of 4. e | iR 1| 3T € srgeRor awa B

Question ID : 2390877669

Chosen Option : 4

Status : Answered

Q.35 39 fAeheq =1 Ta= o, fATeT gea sieR-T9gg & 1y gl dey g, st i srer-wgg o v
SMER-TYE A 81

POSTCARD : DRACTSOP : : VALIDITY : ?
Ans X" 1 YTIDIALV
75 2. AVILIDYT
o 3. YTIDILAY

75 4.YTIDVALI

Question ID : 2390877662

Chosen Option : 3

Status : Answered

Q.36 39 faehea o1 Ta= o, fAHeT Geia ug & 91y agl Ty 8, it f3dta ug st aam ug 9 31
iR : e emr: ?
Ans x 1. g
75 2. %
«3.%1?4&3(

X 4 a7

Question ID : 2390877657

Chosen Option : 1

Status : Answered

Q.37 Qe fAfga ewmar &, TRUCK = 365 31k FOG = 84 forat sirar &1 I+t ghewmwr & DOCILE &t &t
foraT srem?

Ans X" 1174
75 2.176
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o 3172
X 4.170

Question ID : 2390877668

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.38 39 fAeheq =1 T+ o, fAHeRT Geita ug & a1 agl Teiy g, it 3o ug st aum ug @ g1
g : Hier :: e 2
Ans X1 ge
5 2 @R
X 3. s@m

o 4T

Question ID : 2390877656
Status : Answered
Chosen Option : 4

Q39 37 g (arFw) T 9O W, oW A RE 7T F () F Tt W ASH awm@r o w5 §

4

5

BE
af

v Fad s¥a (F9F9) 2

X2 gg (FEw) 1, 2 3K 4

X o g (FiFw) 3 3K 4 =
X+ g (d1FE) 2 3k 3 gt

Ans

Question ID : 2390877689
Status : Answered
Chosen Option: 1

Q.40 I -G T TG 3, Forad Ry g g ereel & fiwr adh Teiwr &, it Ry 7o 2reg-gmw & g
gl & A gl

Hfera: skt
Ans X 1 gTeT T
75 2. i : af@r smRe
o 3. wrerdia R
X 4. T wiogT

Question ID : 2390877660
Status : Answered
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l Chosen Option : 1 J
Q.41 39 faerea o1 T+ o, e & 71 demnei o i agt d@ev §, st Ry g wyg fr St &
@
8:88:96
Ans o 111:121:132
7K 2.7:77:121
/X 3.12:144:173
75 4.9:99:118

Question ID : 2390877683
Status : Answered
Chosen Option : 1

Q.42 39 T &1 T4 KR, Sit F=faf@a sjaen @ vsaras Rg (?) & U o o gadt 81
75,102, 135, 175, ?
Ans  of 1 293
X 2.225
X 3221
X 4.227

Question ID : 2390877679
Status : Answered
Chosen Option : 1

Q.43 39 fArerea o1 aa+1 o, et et s1eR-ugg & a1y a@l 99 g, it fEdia siar-ayg o1 auw
HER-TE G B

ABODE : FEPCB : : CAUSE : ?
Ans X" 1 FTTBB

75 2.DBVTF

o 3.FTVBD

75 4. FVTBC

Question ID : 2390877664
Status : Answered
Chosen Option : 3

Q.44 I HEAT 1 994 R, it FAefaf@a siaen § vsarae Rig (?) & T2 R o gadl 81
12,15, 19, 24, 30, 2
Ans X 1.36
X 2.35
75 3.34
W 437

Question ID : 2390877677
Status : Answered
Chosen Option : 4
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Q45 #rrer & v g3 A @1 FA AR aw ol e A A3 g S B Feaw | Peifea apfat
# femmar /@ ) @ AW W ag SO E 96R T &

wed Eenemed

Al
ns )

v ::

Question ID : 2390877694
Status : Answered

Chosen Option : 1

Q.46 Ry g fAereal 7 @ T Reea @1 oa R, st Aafaf@a el & e adhdma s srefyf
RHEGAT &It 81

1. I3 T S¥H

2. he A yaer

3. hictel A war
4. AR

5. T=3 T ATHRIOT

Ans X" 151,324
o 215234
X 31,3245
X 4.2,41,53

Question ID : 2390877652
Status : Answered
Chosen Option : 2

Q.47 et sik siftfa gl & awa U R & ange-feafa | 43 &1 afk fete & srn sifffa &
ZIEA SR ugd g, af arftfa & = pie <t feam @2

Ans  of 1 zferor
X 2.3
X 3
X

Question ID : 2390877672
Status : Answered
Chosen Option : 2
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GET IT ON
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HY:
1. S AT It g1
2. 3 @ fiA &1

forsenf:

|. o o b &)

1. g o e T8 &1
11. RS Frer A T8 21

Ans X" 1 a7t foreeRe | T 11 SIEROT @Rl 81
25 2. frsene | 3R 11 2T & argeRr v €1
g"'ama‘rﬁtaﬁcﬂmlllwm%
25 4. s | 3R 111 &+ € Srgeror aedl &

Q.48 3 Ty fad Q& fSirent argeon |, 11 3 11l wifera = frsed @ved 1 g w1t g 6 Rg g
HY A & 7S SRR T @; ¥ & ag 9rE=d: A1d 9241 @ (99 udia gidt @), ag Aofa | f
3R FaTd fh m= a1/ Frerd, su=t o1 arfches ®u & ergaRor w=ar/a &/81

Question ID : 2390877670
Status : Answered
Chosen Option: 3

SleRez: IUAR:: AfAA4T?
Ans  of 1 meEReE
X 2. st
/< 3. am

X 4. =R (fhew )

Q.49 39 feheq =1 79 o, fATRT Gea ue & a1y agl Heiy g, it 3 ug st aum ug @ g1

Question ID : 2390877658
Status : Answered
Chosen Option : 4

TEAT FT TET FL
12 14 26

18 46 48
15 30 ?

Ans X 1. 38
X 2 45
X3 39
v 37

Q.50 Re 7w sEERer (dei) F AEEE HeEga B A S WA REA (7) F EH W 3 G636

Question ID : 2390877684
Status : Not Answered
Chosen Option : --

Section : General Awareness

Ans o 1 i REE

Q.1 'IUfIvE 1 T¥pd @ HRIT W H a1 T o1 S 3 9 fnd Ry sirar 82
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p R
/X 3. e Bt
X 4. Rrad

Question ID : 2390877636
Status : Not Answered
Chosen Option : --

Q.2 RN gl & Fam ____ wRd Sfuns wun & aew oft
Ans (1W@—ga@

X 2. gk Rig R

X 3. TR g

75 4 am e

Question ID : 2390877646

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.3 ‘ATS GfsRuw g’ A qwe & e i 67
Ans X 1. germr Bl

o 2 sufam

75 3. 37 wra

/X 4. ifra ey

Question ID : 2390877639
Status : Not Answered
Chosen Option : --

Q.4 HR Tk Fi eitea srafd fra=h gt &2
Ans o 1 11 a

K 2794

25 3.5a

X 4998

Question ID : 2390877621

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.5 fAfafaa d @ Fi ar i e, gfie ok safaes agAl &t gear 3 & g wra & wdg
TR & hrfshA & A e 82

Ans X 1. UDAAN

/5 2. BREATHE

o 3 FAME
/X 4. HAEV

Question ID : 2390877602

Status : Not Attempted and
Marked For Review
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l Chosen Option : -- J

Q.6 3T 2T T HEYUTUh I AUT?

Ans J1§mﬁq

Question ID : 2390877633
Status : Not Answered
Chosen Option : --

Q.7 2018 & SMichsl & AFTAR AT fAHTT Yaehich (Human Development Index) # w1 7 @ forer
gar &Y Yok IaaH g2

Ans X1 wRa
75 2. =iER
o 3. sfc

X 4

Question ID : 2390877605
Status : Not Answered
Chosen Option : --

Q.8 TS 2019 &, Feifeeh dteht & e 3 wifta SrepTert o1 '2019 wfta SR qeEhR Shar?
Ans X 1. qg ImATYA

X 28w

J3.W@mw1

75 4 g gy sfen

Question ID : 2390877638
Status : Not Answered
Chosen Option : --

Q.9 T @eha 3T (AU) & e &t g8t at Fresfira aeelt 81
Ans  off 1 gedt ofik ot

X 2. gheiRyy

7% 3. <z s g

< 4. geht o <z

Question ID : 2390877611
Status : Answered
Chosen Option : 1

Q.10 #E 2019 &, WRd F uge! ‘& Ged’ AR H Y= I 7E o
Ans X1 gexETe

o 2.3

X 3. drge

75 4. it
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Question ID : 2390877599

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.11 '‘viered &= afetsmr s fmfor ___ wfFarswar @i
Ans XLEh‘Iﬁfr:lff

o 2 e

X< 3. e A

/X 4. o

Question ID : 2390877628
Status : Not Answered
Chosen Option : --

Q.12 orad ARV FEgg 15 & ot s sman 81
Ans  of 1 PR @

X 2. deze T

X 3. feftom e

/X 4. e g

Question ID : 2390877612
Status : Answered
Chosen Option : 4

Q.13 3T 2019 Tk, YR H 20 sl 3R e, AT weait & Hene hi feAfa A i oft =l drepiieren
Tgrdr & forg fhg smaTdeRTel Far UR Yudh R Tehdl g?

Ans X" 1.105
/X 2.200
W 3112
/X 4.1008

Question ID : 2390877600
Status : Answered
Chosen Option : 4

Q.14 The basic structural and functional unit of the human kidney is
Ans ( 1. Nephron

x 2. Glomerulus

X 3. Bowman's capsule

x 4. Alveoli

Question ID : 2390877613
Status : Answered
Chosen Option: 1

Q.15 el sprsifa gderor (GSI) & IR YR o1 Gaffde AhEe WeSR arer IS &4 91 82
Ans X1t
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/X 3. dfter g
X 4. TERTE

o 2. s wa

GET IT ON
Google Play

Question ID : 2390877631
Status : Answered
Chosen Option : 4

Ans  of 1 FEERIR
75 2. T Qe
/< 3. qzmia
X 4w

Q.16 F=faf@a & @ w4 a1 dewmg vRa & gdf ae ur e &2

Question ID : 2390877630
Status : Answered
Chosen Option : 4

A ___ " feagl
Ans X" 1. o TR
/X 2. st
o 3. 3@
X 4. afv g

Q.17 31 2019 #, HHRR A T dig Tue @ Riaafagl ) gah siredehs wirex 6 gfd fAsh, ag

Question ID : 2390877601

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.18 = Ryaex &, Ateder aam yfien A @2

Ans X" 1. 7 AT frge < wifehan Y& el 81
75 2. 5qeT SuGNT AR &t Ak o forg ke STl 81
75 3. 7 sIffaT & IeRe &1 aRE B el B
o 4. 75 frde @ e =gt ) AR 3T 2

Question ID : 2390877624
Status : Answered
Chosen Option : 4

Ans X‘|<\7\l—;5
o 2 sswfa
7< 3.4
P R-C

Q.19 fA=faf@a d @ fra ug *t ' 79 g4 (gas giant)' ¥t @gT SraT 82

Question ID : 2390877610

Not Attempted and

Status : Marked For Review
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l Chosen Option : -- J

Q.20 T AN & Teof &, 'Fied' Mg ______ HOTIeN ahl Taffd @w=ar g1
Ans X1 =R

o 2
X 3=
X 4w

Question ID : 2390877637
Status : Not Answered
Chosen Option : --

Q.21 Wit SR & AR, T TRWE & qaw @ et e g 22
Ans  of 1 ga

X 2. 598

/X 3.3

X 4498

Question ID : 2390877641
Status : Answered
Chosen Option : 1

Q.22 VR WA T H AT TG AT TRER 1 SATEA T T AARR TET FHal §?
Ans X 1. argese 166

75 2. 3= 100

/X 3. agede 251

W 2 e 213

Question ID : 2390877643

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.23 uTqg SiTFaTEST ol STl Tech Tg Ut et it waffdw sugwm fAfY 21
Ans x 1. Shia gererRzor

X 2. sfae

75 3. Siefta arst

W 4

Question ID : 2390877616
Status : Not Answered
Chosen Option : --

Q.24 nfdeRTiRer wrareit Y G it e wfdum= A fre s & siafa war mar 82
Ans X 1. 7d

/X 2. odf
o 3. s
75 4 e
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Question ID : 2390877640
Status : Answered
Chosen Option : 3

Q.25 A document which contains data and information arranged in rows and columns with the
facility of applying mathematical formulas is known as a/an:

Ans X" 1. taskmaster
( 2. spreadsheet
x 3. accountsheet
X 4. mathsheet

Question ID : 2390877598
Status : Answered
Chosen Option : 2

Q.26 78 & fFd Ry @i 6 Toa & Afa R gt A enfae 78 frar mar &2
Ans X" 1. qur s & forg THH A

7< 2. TH T 3R e g qgr

o 3. gE R

7K 4. g e @ e

Question ID : 2390877642
Status : Answered
Chosen Option : 2

Q.27 fmafaf@a & @ i a1 faehe gAR TR HSd & Ug! &l I 9T oh Tl RIE! W <kl g2ufar &7
Ans X" 1. gewfy, R, S0
o 2. s, geeafdy, e

Xs.m,m,n’nr«r

/X 4. gt sreur, geor

Question ID : 2390877617

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.28 ‘s di-s' I dl-s & foIg wg=h 2reg ¢, Ssem Iua ______ & forg foran stram g1
Ans X" 1 yewor Heedt TafaRofi R

o 2. iz Gt et ol

X 3. 9% st @ Fmfor s

X 4. TR & gRen

Question ID : 2390877607

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.29 'Triel Wielehier ______ @ Haifdd gw@e 81
Ans X' 1. €iwr-uR siTdeaTe
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25 2. ek adieron ox uferse T
/X 3.t e
o 4. SRy uRad

Question ID : 2390877626
Status : Answered
Chosen Option : 4

Q.30 f=fafaa & @ frg ueref @1 vl am=a4: Ta A14-fRe 9ag a9[ & fag faear sirar &2
Ans Jyé-q;ﬁq

X 2. arehde

X 3. R

p R

Question ID : 2390877623
Status : Answered
Chosen Option : 1

Q.31 T 2019 #, 9RA dgaa ol srset fohdhe g Sifth thar & wwaTia forar wam 1 ag a8
M U ae R fohdher &1

Ans X1 53
/< 289
X 378
o 463

Question ID : 2390877645
Status : Answered
Chosen Option : 4

Q.32 AferAeifeht ATes Henra 39 & fverds sremae & wefda @2
Ans o 1. Sfarsei & SR wR geEt wR s % she

X 2. et 5 e w5 e

X 3. g & s

75 4. qed & srfaRes s

Question ID : 2390877618
Status : Answered
Chosen Option: 1

Q.33 What purpose does the ultraviolet (UV) treatment of water serve?

Ans x 1. It removes strong odour.
x 2. It adds nutrients.
x 3. It improves clarity of water.

J 4. It inactivates bacteria.

Question ID : 2390877609
Status : Answered
Chosen Option : 4
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Q.34 wITEEEEH g & SR gt uR gk Ieht s R & uRRummasy A d & o= &t sfier ar
Ffor gam o

Ans X'I.Wm
75 2. Ffshe
/X 3. R Ehe
o 4 d R

Question ID : 2390877627
Status : Not Answered
Chosen Option : --

Q.35 st anreefa wre rerad o Rrechy iy 42
Ans X" 1 erre

X 2. Regm

/X 3.amnrg

47w

Question ID : 2390877634
Status : Answered
Chosen Option : 4

Q.36 R4 #, &y 7 voneht H 779 @ frw 78 o St & ufRig a9 ¥ua & w9 7 57 Srar 82
Ans X 1 gage

o 2=

/X 3. Ry

X 4. Rem

Question ID : 2390877629

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.37 'Fregfy & |T9 Y gehTS 21
Ans x 1. 999

75 2. 3urd
o 3.7
X 4. 7@

Question ID : 2390877608
Status : Answered
Chosen Option : 3

Q.38 f=faf@a & @ &4 o uRue siRsiiew g & Qg 3verf 82
Ans o 1. gedit or ot et 3 T ok g

75 2. geeht o g & =Y SR ufeRaT @A

< 3. g @ Tt @

75 4. Tz o ur ot faseeh aroe
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Question ID : 2390877632
Status : Not Answered
Chosen Option : --

Q.39 WRadt 2019 #, A g YR sl # ST aiferpre @t ufAféa w3 & fog 2fSes
ferfeiT ofik Aexfru swrefshe 3= a1 39 iR &1 A1 ‘TS SiiFeTs o oftss’ (GOAL)
@ T gl

Ans X" 1. gemd (Huawei)
W 2 s
X 3.7
< 4. FrRIEiTe

Question ID : 2390877604
Status : Not Answered
Chosen Option : --

Q.40 ¥Rd # Aeagiia et & fAgH, S1ga hord 399 | fhad et 42
Ans X" 1. smgsTel

\’ 2. 31hsR WWw.exammix.com
/X 3. s

X 4R

Question ID : 2390877635
Status : Not Answered
Chosen Option : --

Q.41 R samaiRat ek Sahmafat A fora af d thedeM sift $feam dar oifth i ve devdiat
(FICCI) =1 713 ok ?

Ans  of 11927

75 2.1951
/X 3.1947
75 4.1920

Question ID : 2390877606
Status : Not Answered
Chosen Option : --

Q.42 URSH _____ & A1 I Yok 3T &1
Ans x 1. 99

/< 2. s

75 3. zemHm

4z

Question ID : 2390877619
Status : Answered
Chosen Option : 4

Q.43 SHAMER _____ el & 3ia A &9 65 fafera af uget fagea gt g 2
Ans X" 1 dfifge
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W 2 B
X 3. el (grafen)
X 4 R

Question ID : 2390877614
Status : Answered
Chosen Option : 4

Q.44 SFERI2019#, __ <fl STddl uR €350 e T Yeh HwAR0T fRrgent STRY foham mar i
Ans J 1. 7% i Rig

75 2. R et

X 3R

X 4.z e

Question ID : 2390877603
Status : Answered
Chosen Option : 1

Q.45 Fe,03, ATHE Wi SA%h 1 AETAfE G &1
Ans X1 fomTEe

W 2 2

/X 3. 3R uTERTEe

X 4. fmerse

Question ID : 2390877615
Status : Answered
Chosen Option : 2

Q.46 FafafE@a d | fore uarf o1 wahr arae: §s 320t d wel ol HHEH w9 @ e & fog frar
STt 82

Ans X" 1. i
o 2. & FEfss
7< 3. gegrhifyam sefe
75 4. TR FrtES

Question ID : 2390877622
Status : Answered
Chosen Option : 2

Q.47 'fAee Sfiaergg’ (Benthos) AT Siia STATAE: gl UTq ST &2
Ans X" 1. it g afielt A

X 2. Tgg ad w

/X 3. AR &l Fu el F

W 4T aa®

Question ID : 2390877625
Status : Not Answered
Chosen Option : --



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Q.48 f=faf@a # @ i a1 gow S gl 8?
Ans (Lé@@.ﬂ’—r

X 2. T

/X 3. dfRe

75 4 FsH

Question ID : 2390877620
Status : Answered
Chosen Option : 1

Q.49 I3 Sfagdc T & forg Frafafea & § e ok / afvedar &1 Iuai = forar smar 82
Ans (Lq@ﬁr@ﬁé’c’ﬁ?ﬁ

7% 2. AT ad

X 3.adte

75 4. At

Question ID : 2390877597
Status : Answered
Chosen Option : 1

Q.50 aHisfRr faha reAfrens &t & o 97
Ans  off 1. wgor TS i

75 2. TSI arét

75 3. wien sreg uré

75 4. wrgor iy wer ordt

Question ID : 2390877644
Status : Not Answered
Chosen Option : --

Section : Part A General Engineering Civil and Structural

Q.1 ofr fredr oFe & Y9 W I 864 FFTcumec & AR TEE i A 3T 120 RF ¥ O v F
fore = 73+

Ans X 1. 310 cm
v'2.120 cm
/< 3. 864 cm
# 4 400 cm

Question ID : 2390877520

Not Attempted and
Marked For Review

Chosen Option : -

Status:

Q2w g o &, 3R WIS T Fy = 45 ® 9.0 F @ §, O 59 FaT ST
Ans xl r Gl'q'
v 2 BEr ST
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< 3 aifEefeeT a9
X 4 FASGER AT

Question ID : 2390877527
Status : Not Answered
Chosen Option : --

Q3 |3 456:2000 ¥ AR, MITY FEE ¥ vHA FART A7 F DT 3T we7 TS B @ @2
(S&T x, = 3STER HeT Fr TES)

Ans o1 1.5Xy
X 2 0.002x,
v 5 0.42x,
X 4 0.36fy,

Question ID : 2390877545
Status : Answered
Chosen Option: 3

¥ O § ¥ FF T aEd 35 F AT 82

Ans «'1_
T 3W AT TEAIT AT F ger &, S fF ot F R{w gemer 79 ¥ sq9ew FE A 2

X 2 7g Sam-aaed afafafdr #t w7 Far 2

< 3
g g F1 37 AT FF FH =T £, THY SF SS9 909 F7 F@Rar 2

X 4 T IY TR A FA FAT g

Question ID : 2390877522
Status : Answered
Chosen Option : 2

Q.5  What will be the end moment of a fixed beam with a uniformly distributed load of 'w' kN/m? and a length of "I ' m?

Ans o1 ~wi/12

K2 w2
X3 swilig
54 w8
Question ID : 2390877581
Status : Answered
Chosen Option : 1
Q.6 The autoclave test is used to determine the in Portland cement.

Ans 1. calcium content

7< 2. rate of hydration
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« 3 expansion

75 4. sulphur content

Question ID : 2390877540
Status : Answered
Chosen Option : 4

Q7 e 9fAURS (freeholder) ¥ A & FeAfa@d & ¥ FiA-T1 fFFeT T 32

Ans « 1.
3+HFd HAURS (freeholder) Hafed T 90T FaTT &I 21

X 2
37T (freehold) A srem F e A dfEor F Pr et sk T HF P o e &
TR AT & S E

< 3
Tfed X AUFR Fo1T WA F [T SeFa fFuRe (freeholder) Ft Tafda w5 ¥ st aema
FT Er HFTEAT 2 E

< 4
37HFT AU (freeholder) % W ts fafire 3= ¥ R sgmwfts sfOwr #er 21

Question ID : 2390877573

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q8 stew g W WE I A WA F U wdew v & Bega F wged o & Fwdor faw
(Bligh's creep theory) & Tafaa WeT FUe H g Hi

Ans 1.
a’gﬁmm(Head loss) 90T FET5 % FHA F FHAGGE & &
X 2
grar==ar 81 (Head loss) fa@¥uT o@18 & egcspataarar aiar g
< 3.
grareaar 18 (Head loss) Taur of@Ts & T=1Ha & sgchATaal aiar g
2

grat=ar §1H (Head loss) Ta@I0T #1618 & AT Bl 8

Question ID : 2390877521

Not Attempted and
Marked For Review

Chosen Option : --

Status:

0 roer aeEYE # AT B F vy # @ @ He-ar v g 32
Ans x1_

ﬁmmﬁaﬁwﬁammﬁnﬁﬂaﬁwg.ﬁm#mmﬁamﬁ
T g

X 2
T Feaat sET 39 AR UF FBN T, UF FH HHUT AT a6 HIEES 74 W & I et S
¥, o =w R &1 3w B ST e ¥
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W 3

X 4

T 2

GET IT ON
Google Play

oM g F W T §S §, o 3@ R F= s 7 e s wear

gu fafy &7 suarer Fo9 s 39T Ao FRE a1 T AR gEW &eY v aw et F A R e

Question ID : 2390877587
Status : Not Answered
Chosen Option : --

Ans xl 320
«2. 390 3[}1
< 3 1290 302
<4 500 30°

Q.10 pe magnetic bearing of a line is found as 35 45", If the declination is 3 45 E, the true bearing of line is :

Question ID : 2390877564
Status : Answered
Chosen Option : 2

Ans o 1. 50 mm
/2 30 mm
<320 mm
< 4 45 mm

Q.11 s 456:2000 ¥ 3rWR, 915 (footings) &F Tae= % forw ARTAT FAT (nominal cover) e g afge?

Question ID : 2390877547
Status : Answered
Chosen Option : 1

Ans «14

X 4 FIEIISTT HowIss FI Uad T

M o g FE W I F Tad 3T

FETeih HIUSH & HRUT 3¢9+ glef ITel 38T T TS J I HI gerar
X 2 ST H FTaeT STZEASs T AT H g
X o T 7 oo affeds @7 AT F FAT FHE

Question ID : 2390877511
Status : Answered
Chosen Option : 1

Ans

# 1. 500 ¥ 1000 litres/hour/m?

Q13 g F yfgemor & T ggF v T ds e F e X frae g 27
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v 2 100 & 200 litres/hour/m?
#3300 & 600 litres/hour/m?

& 4 3000 & 6000 litres/hour/m?

GET IT ON
Google Play

Question ID : 2390877515

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Ans

v . &7 grEgesr 7 g

X 2 @y Fr TGl GEET J@r gl
X 3

T ATF T A, deddT AR O F Bed &7

F

O Grafefas & @ =7 o "R 9 fEie & awmEr T e §2

mmammmmgammwaﬁm%r

Question ID : 2390877578
Status : Answered
Chosen Option : 1

Ans

v ogls
X2 g05
X3 H

X4 g25

Q.15 If H is the head over the crest of a rectangular weir, the discharge varies as :

Question ID : 2390877529
Status : Answered
Chosen Option : 1

Ans

P

<1 0.5 N/mm
v 2 35 N/mm
<3 25 N/mm
A 4 1.5 N/mm

b B2

M

Q.16 |s 2185 (sT1) : 2005 & ¥R, Gor 7 a5 Hady s-Frafir Fuad somar & v =Faa Aea
TiET weed I &2

Question ID : 2390877507

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17
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According to Building Bye-laws, what is a building called when the outer face of any of its walls is on the street
boundary?

Ans X 1. Barsati
/< 2. Balcony
3. Cabin
v 4 Abut

Question ID : 2390877569
Status : Answered
Chosen Option: 1

Q.18 =7 ¥ A=fRw F v FF9F B (representative fraction) F ¥ & AT I I=T TART TAET
7 &7

Ans  X1.1/100
v 2. 1/25000
< 3.1/10000
X 4.1/1000

Question ID : 2390877556

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.19 df¥ersit vs RfEEt &, wad @ sia o afga B, @ w6 e & 39 e 9w § S
I & T BT T S FewwR & B 3ggd 82

v 1. T TeEe faer ‘C’ [DFR(PW)25]
X 2 g5 e [DFR(PW)26)

X 5. IfF9T TS faer ‘A’ [DFR(PW)23]
X 4 EE UE WA & [DFR(PW)22]

Ans

Question ID : 2390877566
Status : Not Answered
Chosen Option : --

Q.20 A portion of the roadway, contiguous with the travelled way and is intended for accommodation of stopped vehicle is
called as

Ans o 1. Shoulder
& 2. Median
X 3. Curbs
/5 4. Carriageway width

Question ID : 2390877594
Status : Answered
Chosen Option: 1

2 o cofae RE #F T SEETT § AT S0, afE r

Ans
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X 1. SHHT ATy TS T &

v 2 SHET HTCoTaeher FS T AT UAcHS gl &
X 3 SHPT FTcoTdehar FoTE T AT HUNcHS & &
X o ST T &g Scoollde g & A= g g

Question ID : 2390877534
Status : Not Answered
Chosen Option : --

Q.22 Determine the position of center of pressure (from the surface), for a rectangular lamina of height i immersed vertically
in water upto a depth k below the free surface.

Ans . ik

X1.T
2h
z7)
h
3
sh

4. —
3

Question ID : 2390877533

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.23 When compared with open caissons, floating caissons generally

Ans

/< 1. have a greater depth below the ground surface
o 2. are less expensive
/< 3. have a higher load-carrying capacity

/< 4 have a slow and inconvenient installation

Question ID : 2390877586

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q2 =t F i & =g ameemas =S (inundation irrigation) o wgemar £72
Ane X1 zrgasie f&=TE (Diversion irrigation)

v 2 gargr f8=rg (Flow irrigation)

< s P’-_ﬂ;:i?!’ f&=$ (Combined scheme)

X 4+ gargur &= (Storage irrigation)

Question ID : 2390877519
Status : Not Answered
Chosen Option : --
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Q25 B qord & 77 $r FrT T TAT sAF ¥ BE gErT B FA qert Hr Aoh F w@r T 22
e XK. AMEew Trwee

X 2 giferefa ofrewm

X o ReAa Feow

v i die Fhe

Question ID : 2390877502
Status : Answered
Chosen Option : 2

Q.26 e Foe-wWEE 49T W, ey TR F a9 & ooy 9ff3[EaT (achievable accuracy)
foreetr g &7

e 1250 3 1
21000 # 1
<3 500 & 1
X 4 2000 & 1

Question ID : 2390877563
Status : Answered
Chosen Option: 1

Q27 gt & oo Rawor #r B aFAE 1 e @9 (trickle irigation) &t @eT =T ¥72
e X e siehe

< 2 oy wafEer

V' 3 B sieneE

A4 FTST eITseT

Question ID : 2390877517

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q28 Tdentify the dimensionless parameter from the following.
Ans o 1. Reynolds number

/< 2. Specific weight

/< 3. Chezy’s co-efficient

/< 4 Kinematic viscosity

Question ID : 2390877531
Status : Answered
Chosen Option : 1
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Q.29 A saturated soil sample has a dry unit weight of 18000 N/m? and specific gravity 2.65. If unit weight of water is 9810
N/m?, determine the water content of the soil sample?

Ans X' 1.0.25
<2 041
v 0.17
< 4 0.34
Question ID : 2390877589
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.30 1981 & 2001 &r 3™ & 2w sing # wea faww dwar & w & &7 I Jer g
MK ARTR
X 2 AR st
X 3 grer AT
v TEaF O
Question ID : 2390877592
Status : Answered
Chosen Option : 4
Q.31

Adding extenders in paints increases its

Ans X 1. adhesion

/< 2. washability

' 2. pigment volume concentration
/< 4. durability

Question ID : 2390877500
Status : Answered
Chosen Option : 4

Q.32 Iz ffese fww s&8ege (CBRI) % 3g@R, v 3R & #Afoer saral & w9 & fow e Rt #r
Fefrper fawam T 7

Ans x1.
M5emAT THc FFE 1 :5: 10 F FR30-mm- A& e Fhec 1:3: 5 o s &

X 2

11.5-mm- A& @FC FHE 1: 5 : 10 F 7 40-cm- A& dc FRT 1: 3 : 5 o e ¥
X 3
11.6-mm- Fér @ FHT 1: 6 : 10 F FR 38-cm-AS Bic FHT 1: 4 : 6 o I ¥
v
11.5-mm- A @ FHE 1: 5 : 10 F 59 38-cm-Ad @ Fhe 1: 2 : 4 o I ¥

Question ID : 2390877570

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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GET IT ON
Google Play

S 1 el A # § e A # seftee G a2

e X1 3EB
X23d=D
vigzc
X423 A

Q.33 e i AT (IS 6543) F HFER, I FH F gAY AGF 5.6 ¥ 9.8 kN/mm? F 4 @ §, &

Question ID : 2390877504
Status : Not Answered
Chosen Option : --

@ =T
A o1 1.25 dire

<202 ;T
<3 0.1 8T
X 4 2 FET

Q34 F=w % @R, 7000 F 21,000 cumec % & fawmor F fov fafise fan & wfavag oo

Question ID : 2390877525
Status : Not Answered
Chosen Option : --

Q35 The unit of dynamic viscosity of a fluid is :
A o Ns/m?
X2 Nsm
X3 N.m¥is
< 4 Num/s

Question ID : 2390877532
Status : Answered
Chosen Option: 1

e K ot R
v 2 3rgofar
<3 w1y 3= mede
K4 e By

% v IS whEE F ST # e # ¥ - o aifed ¥

Question ID : 2390877557
Status : Answered
Chosen Option: 3

Q.37
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10,000 T 3TETEr JTer T UET F caAd e (rapid filter) FT &Swer 20 m? ¥ T & #r twa
faregzar 2T 4000 lires/hour/m? &1 St #ie7 T Far gefr?

e X1 160 devenFafeaw
X 2 145 Srey/eaFafeas
#3158 rey/eufFalfeaw
v 128 der/emEafeaw

Question ID : 2390877516
Status : Not Answered
Chosen Option : --

Q.38 According to IS 456:2000, the maximum strain in concrete at the outermost compression fibre is taken as:

Ans 5 1. 0.035 in shear
/< 2. 0.035 in bending

7< 3.0.0035 in shear
« 4 0.0035 in bending

Question ID : 2390877544
Status : Answered
Chosen Option : 4

Q-39 faeg TaELy WIS (WHO) ¥ 3[WR, S0l & F0NTeE &1 /e AT @ ¥
Ans X 1. 350 mgl/l

2 21 mgll

'3 200 mgl/l

< 4. 0.001 mg/l

Question ID : 2390877509
Status : Answered
Chosen Option: 3

Q.40 20 mm x 20 mm ¥ EFTET FT A TF 1- m - FT F TF, 40 kN F TG T (tensile
forces) % 3T ¥ T TeaEYAr HW 200 GPa ¥, & ©F it @ # g T 3fF (elongation) wE
E2d

Ans X1 5 mm
/< 2.0.005 mm
< 3 50 mm

v 2 05 mm

Question ID : 2390877577
Status : Answered
Chosen Option: 2

Q.41 Which of the following is a non-automatic rain gauge used in the measurement of rainfall?

Ans 1. Tipping bucket rain gauge
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/< 2. Weighing bucket rain gauge

+ 3 Symon's rain gauge

/< 4. Float-type rain gauge

Question ID : 2390877510
Status : Answered
Chosen Option: 3

Q.42 mew A (K), 7o A7 (E) it =@t wged (Um) F fa @aw & g Wiese B smer
gl
Ans  of 1 K = mE/3(m - 2)]
X2 K = mE/(3m )
X3 K = mE/3
X 4 K = E[3(m - 2)]

Question ID : 2390877580
Status : Answered
Chosen Option: 1

Q.43 In estimation and valuation, the charges that are levied at the time of transfer or issue of the stock in addition to the book
value and storage charges are termed as:

Ans 1. market rate
/< 2. storage charge
W 3 issue rate

/< 4. supervision charge

Question ID : 2390877565

Not Attempted and
Marked For Review

Chosen Option : --

Status :

WM ST AT e ZEnT gEEfSa Fa fRar ST g B
A X1 ofy o Tow w@ieT o § O 3aer a8 w0

K 2 EEr g T FAT T HT F

v AT T IH w0

X+ Fo Tg & &= =

Question ID : 2390877562
Status : Answered
Chosen Option : 3

Q45 wWhat are the errors that cannot be eliminated in surveying?

Ans  of 1. random errors

/< 2. errors due to natural causes
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/< 3. personal errors

/< 4 instrumental errors

Question ID : 2390877558
Status : Answered
Chosen Option: 2

Q.46 WWhat is the expression for crippling load for a column with both ends hinged?

Ans saZEl
1. =
X 1P o

-
9 . = Ef
X2p =

3. =37zZEI
X3P =

2
4. . BT
4P —

Question ID : 2390877550
Status : Answered
Chosen Option : 4

Q.47 Asteel built up column is subjected to an axial force of 1000 kN. The lacing system has to be designed for resisting a
transverse shear of :

Ans X1 30kN

V2 25KN
K3 20kN
< 4 15kN
Question ID : 2390877549
. Not Attempted and
Sjatus . Marked For Review
Chosen Option : --
Q48 e & gegTEyar A9 & Ec = MPa ZarT wefdia fmar smar ¥

(T = T T B T T T ¥
At K1 3000VF,

v 2. 5000f

#< 3. 5000f

X 4. 2000f

Question ID : 2390877548
Status : Answered
Chosen Option : 2

Q.49 The factored load carrying capacity of a reinforced concrete column (M20 concrete. Fe 415 steel) of 350 mm X 650 mm
size with minimum percentage of steel is :

Ans X 1. 1976 kKN
X 2 2500 kN
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v 3 2326 kN
X 4 1536 kN

Question ID : 2390877546

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q50 & ver$ 33 e @i ¥ 3R Surerer sEaed @t F s @
me X ds wm

X 2 Aifew =

X3 IET I

v W A

Question ID : 2390877561
Status : Answered
Chosen Option : 4

Q.51 With respect to irrigation efficiencies, the ratio of the quantity of water stored into the root zones of crops to the quantity
of water actually delivered into the field is called:

Ans o 1. water-application efficiency

/< 2. water-storage efficiency
/< 3. water-conveyance efficiency

/< 4 water-use efficiency

Question ID : 2390877518
Status : Answered
Chosen Option : 4

¥ T PR o F T T R AT W w2

e K e TERIERUT T HACET FH
<2
HTEITE &1 Tpfae Atforar (natural drains) T 3§ F%h

K= = & doar 7 gfe =
v o et & arsRiT w0

Question ID : 2390877523
Status : Answered
Chosen Option : 4

Q.53 s 456:2000 & 3(FHR, WURVT HEE aer §F F FEARK @ (stirups) & Be sman e waw
(spacing) AT é‘?

Ans X1 500 mm
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< 2 600 mm
23 150 mm
v 4 300 mm

Question ID : 2390877543
Status : Answered
Chosen Option : 4

Q.54 I surveying, which of the following instrument is used for indirect measurement?

Ans X 1. Passometer
< 2. Pedometer
/< 3. Speedometer

' 4 Metric chain

Question ID : 2390877560
Status : Answered
Chosen Option : 1

Q.55 T wew F AR Tt T TET TEAE, T50 THAE, fHer @Ear A anhor gEe & e
T & FEs aEwr wEaitea R T ar?

V1934 F e wER F0W
X 2 Tar SEe (Pierre Tresaguet)
X 5. ARTR W A=A

X o i IR i Wit

Question ID : 2390877591
Status : Answered
Chosen Option : 3

Q56 YWhat is the formula to calculate floor area ratio (FAR)?
Ans  f 1 total covered area/plot area

/< 2. (total covered area + plot area)/(plot area)
/< 3. (total covered area = plot area)/(plot area)

#< 4. Total covered area/built up area

Question ID : 2390877568
Status : Answered
Chosen Option : 1

Q.57 For which of the following tunnel losses is Manning’s rugosity co-efficient used in the calculation of head loss?

Ans 1. I oss due to bend
« 2. Frictional loss

/< 3. Loss due to change of velocity in contraction
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/< 4. Loss due to change of velocity in expansion

Question ID : 2390877526
Status : Answered
Chosen Option : 4

Q.58 far 3ARE & B F TR W AT ST I HGT IR (covered area) FEAET B

Ans X1 fafyr &9%we (Sundry area)
v 2 I 9w (Plinth area)
X 3w FT STFA (Carpet area)
X 4+ gfyg=rers &9%e (Circulation area)

Question ID : 2390877571
Status : Answered
Chosen Option : 4

Q59 zfy e @ pH A 8.5 ¥ 3% &, o T8 ¥ FIF-T1 FATASH TP
e XK. ARt A sEFEES et

X 2 FaoT TEFANTASH

v 5 FaT AAFATAST

X 4 FaT SEFARTATSA

Question ID : 2390877512
Status : Not Answered
Chosen Option : --

90 srer #r TS ForaT s ¥ G suftufy ¥ Fnor @ 17
Ans X_Iﬂ__l.!gaz_

v 2 FEfae

X 3 gethe

X 4 FelSE

Question ID : 2390877514
Status : Answered
Chosen Option : 2

Q61 YWhich of the following is an example of a sedimentary rock?

Ans 1. Granite
+ 2. Sandstone
#< 3. Marble
/< 4. Quartzite
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Question ID : 2390877505
Status : Answered
Chosen Option: 2

Q.62

Ans

+ 1. Silicious rock
#< 2. Stratified rock
#< 3. Unstratified rock
#< 4 Foliated rock

Which of the following is the chemical classification of rocks?

Question ID : 2390877503
Status : Answered
Chosen Option : 1

Ans

X1 AT F AT 9T qUT A5 HfT ;@ FE
X 2

By Famer & & @y 57 & BT o7 F7 3Ee

X 3

v -

Q63 roifse Frif F '3MeTEA® =¥ (contingencies) ¥ U FaT AW &2

v & e & o= # R ve w1 ¥ g w1 # I aEeS

Bfaw v F AFreRE R, Bee fRr ofr sweiE ¥ mEa e 76 B o s, oftw aee
S I R

Question ID : 2390877567
Status : Answered
Chosen Option: 4

Ans

« 1. The ratio of the volume of voids to the total volume

7< 2. The ratio of the volume of air to the total volume

Q.64 Tn soil engineering, what is the volumetric relationship that defines-porosity?

/< 3. The ratio of the volume of water to the volume of voids

/< 4. The ratio of the volume of voids to the volume of solids

Question ID : 2390877585
Status : Answered
Chosen Option : 1

Ans

Q65 WWhich of the following is a fillet weld?

/< 1. Single I

/< 2. Square

' 3. Mitre

/< 4. Single bevel
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Question ID : 2390877553
Status : Answered
Chosen Option : 4

Q66 |5 10262:1982 % 3R, F= C & OPC & Fhea AT fraalr @ =nfge?
fre X1375 ¥ 42.5 MPa

X2 325 @ 37.5 MPa

V'3 425 @ 475 MPa

X4 475 ¥ 52,5 MPa

Question ID : 2390877538
Status : Not Answered
Chosen Option : --

Q67 Tdentify the one where the centroid of section lies outside section?
Ans 1. Symmetrical I section
+ 2. Angle section

#< 3. Tee section

/< 4 Unsymmetrical I section

Question ID : 2390877579
Status : Answered
Chosen Option : 4

% Crredi v mua FU arer o FET ¥
e X afewa ¥

X 2 RaftemT i

V5 rEafa =

X4 =T o

Question ID : 2390877508
Status : Answered
Chosen Option : 1

Q69 T ean concrete base is an example for
Ans o 1. Rigid pavement

/< 2. Flexible pavement
#< 3. Semi-rigid pavement

/< 4 Composite pavement

Question ID : 2390877596
Status : Answered
Chosen Option : 2
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Q.70 g a1 & Aew F wE A T § Feh 78 e G F IR AR F @ T A ¥ R A
Faga

Ans 1 323 faT (Braided river)
X 2 gEser R (Tidal river)
X 3. afaa Rag (Virgin river)
X 4 worelt R@T (Flashy river)

Question ID : 2390877524
Status : Not Answered
Chosen Option : --

Q.71 % 3% Brem & o &7 F &9 F 20 mm =17 T BF F ©F Fr 39007 FHaAT 0T &, Tg g
¥ T & FUT Giowe F WHTES SoRATT & i & @ &1 AN 1 Hwaw aeeen das e
i

Ans 1. 2500 mm
/< 2 2000 mm
# 3 3000 mm
v 4 1750 mm

Question ID : 2390877554
Status : Not Answered
Chosen Option : --

Q72 wwhich of the following is added as a vehicle in paints?

Ans 1. Turpentine oil
/< 2 Read lead
+ 3. Tung oil
#< 4 White lead

Question ID : 2390877501
Status : Answered
Chosen Option : 1

Q73 YWhat is the Moh's hardness number for Topaz?

Ans XL 12
X210
K32
V8

Question ID : 2390877506
Status : Not Answered
Chosen Option : --

Q.74 As perIS 800:2007, what should be the maximum slenderness ratio for the tension members in which reversal stress
due to load other than wind or seismic forces occurs?
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Ans X1 580
<2400
<3 350
v 2 180

Question ID : 2390877551
Status : Answered
Chosen Option : 3

Q75 v g & # 60 om 1 R 3WF TR 0.8 F IMAF v I 30 om I T ¥ TF A aH A
g ®r g gre drgar GE

v 8240.4 N/m?
< 2 9430.6 N/m?
< 3 8829 N/m?

< 4 2354.4 N/m?

Ans

Question ID : 2390877535

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.76 Which of the following cement is supposed to be the best cementing material and is well burnt cement?

Ans 1. Tetracalcium alumino ferrite

v 2 Tricalcium silicate

/< 3. Tricalcium aluminate

/< 4 Dicalcium silicate

Question ID : 2390877537
Status : Answered
Chosen Option: 4
Q.77 3 :
FTATST FHIOT F TTEIUT Fr HSAT FLT B

Ans X 1. GEUHATA
v 5t
K s Far
X4.q;i—g|g-|-

Question ID : 2390877530
Status : Answered
Chosen Option : 2

Q.78 The water content at which soil changes from a liquid state to a plastic state is known as:
Ans 1. consistency limit
/< 2. plastic limit

2 liquid limit
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/< 4. shrinkage limit

Question ID : 2390877584
Status : Answered
Chosen Option : 3

Q.79 What will be the capacity factor of hydro-power if a plant with a capacity of 10000 KW is to produce 400000 kWh
when operating for 100 hours?

Ans K1, 25%
v 2 40%
#< 3 30%
< 4 50%

Question ID : 2390877528
Status : Not Answered
Chosen Option : --

Q.80 =z Ry, s o TR F oy avwe & a7 § #R 39 9 59 Ay Ry dme freaw @
o fsTr ST §, Fr wgene €7

M Ry e % YR W STt
X2 GEl B HFATAT e

X o BFTga ¥EeAr ¥ Feg

X 4 " T HThold

Question ID : 2390877575
Status : Answered
Chosen Option : 1

Q.81 According to the Indian Standard Classification. the soil is classified into:
Ans X 1. 5 groups

/< 2. 23 groups

' 3. 18 groups

/< 4. 10 groups

Question ID : 2390877583

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.82 R gfy m2 & 2600 ¥, ik TR = aFE F BT 20% e Rede e o= § & 100
m? & fEster sawer aTel weT Aofr 1 sARE % e Fwir sElaE @ (rough cost estimate) T
o

Ans X 1.212,000
#< 2. 260,000
< 3. 372,00,000
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W 4 372,000

Status : Not Answered
Chosen Option : --

Question ID : 2390877572 ]

B ¥ ¥ P W TeTTT BrHTET ST Y gl 7
o g ar gue agE e

X 2
BIFTHT & SN FATEIOT @ (line of collimation) & wenfaa 2T g1

X o TomsfEe egEt & #5 afy 7@ @
XK o FETOE & AN Cereerd U wafad g g

Question ID : 2390877559
Status : Not Answered
Chosen Option : --

Q.84 Gl & § #iw-a1 9 & 37 v &, TF B #9a & Be 9 & wwl @ & g s
F v e Fraar B

M K1 3eEea w=IfEe (Freehold)
A 2 39 9gT (Sub lease)
W 3 TS 98T (Life lease)
& 4 TTEr 93T (Perpetual lease)

Status : Not Answered
Chosen Option : --

Question ID : 2390877574 ]

Q85 |3 456 : 2000 % AR, WE YT Fhe F FHE HR Brdar g =ge?

e XK 21 kN/m2

X 2 23 kN/m?

X 322 kN/m?2

V4 24 KN/m?

Question ID : 2390877541
Status : Answered
Chosen Option : 4

Q.86 IS 13311 (3197 1) F 3FR, FeNIFT FHE F T TWHET T F3 W, IR T 37 &,

A U FhIE H N UTEeAr F S A 7

A 135 kmis & 45 km/s & §=
<230 km/s T &5
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X3 45 km/s ¥ 3¥0=F
<430 km/s ¥ 3.5 km/s & &=

Question ID : 2390877542
Status : Not Answered
Chosen Option : --

¥ AR F e # Y ¥ P FuT g 27
Ans x1.

FE A | Fr g a1l | o gae B S g, & e aeee oo = R A &
T s BT e s

X 2
o 3 T UF OIS TSR of Ao @, A TF T R FOFE FH W oA ¢ I qNEA
A T e I8 e B

X 3
e AR g &1 AR Fa: eI’ & A H Wehe &l gl

v
drfe #r 25% ¥ FA A B TG 99 F IRERE wE wW ghsw g & g o #

Question ID : 2390877498
Status : Not Answered
Chosen Option : --

Q88 prrey OiielE T & Tow odsiEaEs & uiNea A B A 2
Ane X 1.35% & 9%

X2 17% & 25%

V'3 1% T 2%

X 4 60% & 65%

Question ID : 2390877536
Status : Answered
Chosen Option: 1

Q.89 Which of the following is the function of the sub base layer in the pavement?
Ans 1. To provide a smooth and uniform surface for riding

+ 2. To minimize the damaging effects of frost action

/< 3. To provide skid resistance surface

/< 4. To resist the abrasive forces of traffic

Question ID : 2390877595
Status : Answered
Chosen Option : 4

¥ s F At s ¥ & g 2

Ans
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V1 045 3T 0.50
<2 0.08 3T 0.18
<3 0.23 3k 0.27
< 4 0.25 3T 0.33

Question ID : 2390877582
Status : Answered
Chosen Option : 1

Q.91 frer Fr TorsfET F1 TEFT [T (Bishop's simplified method of slice) F Tt & 3 ¥ Fia-Tr
FuT T2

X 1. Ug Hae Ao g WEIEEAT H TS HIT 2l

Ans

X 2 TE I FEF Tl WHEAEEA F TGSE A 2

v
TE HERT-3709T TARH! T AT T FRIG 1 & AT H HeAGET H o gl

X 4 TE Hae HTEYT T HFEAEEAT B T AT gl

Question ID : 2390877590
Status : Not Answered
Chosen Option : --

Q.92 zfr 3R seraw T T e A w B F femfale F e 7 s w9 g ww (staff) #
3R FF & T FeahaT F0T F1 AT affF Far 2

Ans «1§ ﬂflf
X > Yafd

X 3. Preprorfad
X 4. P
Question ID : 2390877555
Status : Not Answered
Chosen Option : --
Q.93 uw fAfése wom W felt wufes & Fieer T qpw % fauicor & wer & F T H AT ST
gl

M X et gew (Rateable value)
v 7 FeATER
X 3. ATk FFT (Book value)
X + HEARUT {7 (Salvage value)

Question ID : 2390877576
Status : Answered
Chosen Option : 2
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{ )

Q94 gy e Fr o=l & v g gFR & die #1 g G Sar 32

Ans X1.
W—H@'—ﬂ@ﬂﬁ ##He (Blast furnace slag cement)

X 2 JF-%9 FAC (Oil well cement)

X 3 3TI-TegfAAT HHT

v

gréos-aiAterar AT (Portland pozzolana cement)

Question ID : 2390877539
Status : Answered
Chosen Option : 1

Q95 Toughness Index of a soil is the ratio of:

Ans  of 1. Plasticity Index to Flow Index
< 2. Shrinkage Index to Liquidity Index
/< 3. Liquidity Index to Shrinkage Index
#< 4. Liquidity Index to Consistency Index

Question ID : 2390877588
Status : Answered
Chosen Option: 1

Q.96 Which of the following constituents in the manufacture of glass acts as an accelerator for the fusion of glass and an
excess of which will be harmful?

Ans o 1. Soda
#< 2. Potash
/< 3 Lime
X 4 Cullet

Question ID : 2390877499
Status : Not Answered
Chosen Option : --

Q.97 Tt goEr #, 100 # 1 $F 370E &, 80 H 1 & HE o & Haar &, ar F=ew #or 74
Ffac)

v .
X2 2
X
X =

Ans
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Question ID : 2390877593
Status : Not Answered
Chosen Option : --

Q98 What is the content of carbon in pig iron?

Ans o 1304 t0 4%
X 2 5% to 8%
# 3 0.002% to 0.1 %
< 4 0.5% to 2.5%

Question ID : 2390877497
Status : Answered
Chosen Option: 1

Q.99 What is the relation between equivalent length ( L,) and actual length (f) for a column with one end fixed and the other

Ans X1 (L, =2.51)
v (L,=21)
1
xg' {LQZ;)
X4 (L, =3l

Question ID : 2390877552
Status : Answered
Chosen Option: 2

Q.100 The process of separating impurities from a suspending fluid by the action of narural forces alone is called:

Ans 3 1. sedimentation with coagulation
/< 2. discrete particles
< 3. chemical precipitation

« 4 plain sedimentation

Question ID : 2390877513
Status : Answered
Chosen Option : 1
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